1.
[Business Organization and Intellectual Property] Phil Young, founder of the Pedal Pushers Company, has developed several prototypes of a pedal replacement for children’s bicycles. The Pedal Pusher will replace existing bicycle pedals with an easy-release stirrup to help smaller children hold their feet on the pedals. The Pedal Pusher will glow in the dark and will provide a musical sound as the bicycle is pedaled.

Phil plans to purchase materials for making the product from others, assemble the products at the venture’s facilities, and hire product sales representatives to sell the Pedal Pushers through local retail and discount stores that sell children’s bicycles. Phil will need to purchase plastic pedals and extensions, bolts, washers and nuts, reflective material, and a microchip to provide the music when the bicycle is pedaled.

A. How should Phil organize his new venture? In developing your answer, consider such factors as amount of equity capital needed, business liability, and taxation of the venture.

B. Phil is concerned about trying to protect the intellectual property embedded in his Pedal Pusher product idea and prototype. How might Phil consider protecting his intellectual property?

8.
CASTILLO PRODUCTS COMPANY

	INCOME STATEMENT
	2009
	2010

	Net sales
	$900,000
	$1,500,000

	Cost of goods sold
	540,000
	900,000

	  Gross profit
	360,000
	600,000

	Marketing
	90,000
	150,000

	General and administrative
	250,000
	250,000

	Depreciation
	40,000
	40,000

	INCOME STATEMENT
	2009
	2010

	  EBIT
	−20,000
	160,000

	Interest
	45,000
	60,000

	  Earnings before taxes
	−65,000
	100,000

	Income taxes
	0
	25,000

	  Net income (loss)
	−$65,000
	$ 75,000


	Balance Sheet
	 2009
	 2010

	Cash
	$    50,000
	$    20,000

	Accounts receivable
	200,000
	280,000

	Inventories
	400,000
	500,000

	   Total current assets
	650,000
	800,000

	Gross fixed assets
	450,000
	540,000

	Accumulated depreciation   
	−100,000
	−140,000

	   Net fixed assets
	350,000
	400,000

	   Total assets
	$1,000,000
	$1,200,000

	Accounts payable
	$ 130,000
	$ 160,000

	Accruals
	50,000
	70,000

	Bank loan
	90,000
	100,000

	   Total current liabilities
	270,000
	330,000

	Long-term debt
	300,000
	400,000

	Common stock (0.05 par)
	150,000
	150,000

	Additional paid-in-capital
	200,000
	200,000

	Retained earnings  
	80,000
	120,000

	   Total liabilities and equity
	$1,000,000
	$1,200,000


[Cash Conversion Cycle] Castillo Products Company improved its operations from a net loss in 2009 to a net profit in 2010. While the founders, Cindy and Rob Castillo, are happy about these developments, they are concerned about how long the firm took to complete its cash conversion cycle in 2010. Use the financial statements from to make your calculations. Balance sheet items should reflect the averages of the 2009 and 2010 accounts.  

A. Calculate the inventory-to-sale conversion period for 2010.

B. Calculate the sale-to-cash conversion period for 2010.

C. Calculate the purchase-to-payment conversion period for 2010.

D. Determine the length of Castillo Products’ cash conversion cycle for 2010.

9.
[ROA Model and Expenses Related to Sales] Use the financial statement data for Castillo Products.

A. Calculate the net profit margin in 2009 and 2010 and the sales-to-total-assets ratio using year-end data for each of the two years.

B. Use your calculations from Part A to determine the rate of return on assets in each of the two years for Castillo Products.

C. Calculate the percentage growth in net sales from 2009 to 2010. Compare this with the percentage change in total assets for the same period.

D. Express each expense item as a percentage of net sales for both 2009 and 2010. Describe what happened that allowed Castillo Products to move from a loss to a profit between the two years.

